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NB: Q. No.lis compulsdry
Answer any three of the remaining five questions
Assume suitable data, if necessary <

Q.1 Write Short notes on following (Any Four)
(a) Work Breakdown Structure (WBS) )
(b) Triple contraints in Project management;
(c) Goldratt’s critical chain
(d) Concurrent Engineering
(e) PrOJect Audit

S
Q.2(a) The table shows estimation of probs bﬂ‘@' ¢
project of “Restoring and refurbishing & hemtagﬁ’,
project engmeer of a city municipal mnperanon ;
'd and duration is 1 year

Code isk s ) “limpact (Mn Rs)
A Damage to struct,uta“{@m&:ﬁc) J; " 15
B Theft of or daniagb\m aauq‘g{ﬁeﬁas K 80
c Structural detefiol atio : 30
’ D 5
i E
Device a suita ]e ‘cltji:a[7 ja"p{ ' ybakb \mtfpact matrix and comment on
the seventy %qc sk’ ba%dn;ﬂ tihés‘j‘he:" & - (10)
o e, SRS O < \\‘* xa DX
(b) List ami fb(}éﬁyx ‘ rtbﬁ € W@ S o‘)aets"m‘a;y be terminated. What are some non
technlca“l’féa ér{s”?gz%rﬁ“@gfy : @‘ % (10)
- o QC\ X (v;b«% \b/\“~“‘}§{/
fecf J#gﬁﬁg%gﬁ“ s (10)
o S e Qﬁ?ﬂ o

Project

SR ~5) Dettol liquid hand soap is launched in
< |market
b) State bank launches State Bank Buddy App.

c) Tata motors decided to make Rs.1 lakh car
when Mr. Ratan Tata gave it as a challenge.

d) Air India decided to buy Boing 787 after
comparing with other models of Boing &
Airbus.

e) ONGC buys new helicoptors for oil rigs.
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(b) What is a scope creep? How does formal chan
project management?

Q.4 (a) What is a project life cycle? How does cost of ch
stakeholders are affected with pro;ect time during the life-

(b) What is the purpose of control in project man
types of control system? What are characterlstlcs{

Q.5 (a) A software development project at dag‘ £
and the scheduled cost of Rs. 84,000/-. The sbffw o)
completed work to be Rs. 81,000/-. What Q

(b) Differentiate between the Functlonal»\Rﬂ”: ‘

e \,».‘w,
.3‘\*~ 'x«,
‘s-v..(\ \3 o~

(c) Compare the top down budgetmﬁg,a,ﬂd:

(b) What is crashing of the proj' ¢
crashing

(10)

gessnp : (5)
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